UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KLOGRAMM

PART NUMBER / DWG NO.:

PLP14

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 14.01.2015 DESCRIPTION:
APPVD Spinning beam
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TR‘;}P Ti ptlptap Juri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:15 SHEET 1 OF 7




safety area

5196

2 3
. 3180 _
I
£, S
&
% %\%QQ 2
_ 1500 L 1500 -
o~
~
[
S
60
< s
& S
0
1
| 180

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

PLP14

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 14.01.2015 DESCRIPTION:
APPVD Spinning beam
F N
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

JUri alevik, Roe vald,

75301 Harjumaa

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:30

SHEET2 OF 7




foundation

5196

2 3 4
. 3180 _
[}
(o)
<
0
P
(e8]
| o~
o
N
(\
J
(o
<
0
||
. 1590 1590 _

depth of foundation 600mm

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

PLP14

NAME SIGNATURE DATE REVISION
DRAWN|  MRebase 1401.2015 DESCRIPTION:
APPVD Spinning beam
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa

WEIGHT: | SCALE: 1:30 SHEET3 OF 7




1515

2196 - ground/ 180

DIVENSIONS ARE I MILLIMETERS PART NUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM PLP14
NAME SIGNATURE DATE REVISION
DRAWN|  M.Rebase 14012015 DESCRIPTION:
APPV'D Spinning beam
Tiptiptap OU
?‘-"-P' T- t- t oU Veetorni 9, MATERIAL: .
TA€>P Ip Ip ap Juri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa WEIGHT: | scae s SHEET 4 OF 7




[ 2
o]
1
F—:—
iE
o I~
.
§\>
ITEM
NO PART NUMBER DESCRIPTION QTY.
1 |post 98x98x1450 laminated wood 2
2 |[beam 40x2000 painted steel 1
3 |spinning beam laminated wood, metal ]
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM PLP14
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 14.01.2015 DESCRIPTION:
APPV'D Spinning beam
?‘.P‘ T- t- t oU TI\/pélg’:grr:r)1|(8,U MATERIAL: .
P IPUPTAP  Jori alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:20 SHEET 5 OF 7




7 \//
e 1>
/ N
° 0
° [4
<3
°
[
? °
0

90

. tg
q<@> ®
Q

O

(e

i}

O

1 - I 1
(@)
(@]
AN
1 .
\ .
4 3 o
(@]
= :
& L 1
5\ \7 .
ITEM
NO. PART NUMBER

1 |post 98x98

plastic cap 115x115

ground fixtutre U-shape

olt DIN603 M10x120

nut cover M10

nut DIN985 M10

nut cover cap M10

O NN MWD

woodscrew 6 x 90

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:
PLP14

DRAWN M.Rebase

14.01.2015

APPV'D

A Tiptiptap™

Tiptiptap OU
Veetorni 9,

Juri alevik, Rae vald,
75301 Harjumaa

DESCRIPTION:
Spinning beam
connecting ground fixture to post

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:10 SHEET 6 OF 7




g
b

A
5
6
L __ 78
ol
e
B
2 . TEM PART NUMBER
Z/ 4 1 |bolt DIN603 M12x130
: @ / 2 |nut cover M12
H DI 3 |nut DIN985 M12
4 |nut cover cap M12 c
5 |bolt DIN603 M10x120
6 |nut cover M10
7 |nut DIN985 M10
= 8 |nut cover cap M10
PLP14

APPV'D]

Spinning beam

)
TP
T

Tiptiptap®”

Tiptiptap OU
Veetorni 9,

Juri alevik, Rae vald,
75301 Harjumaa

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:20

SHEET7 OF 7



	Sheet1
	Drawing View11

	Sheet2
	Drawing View12

	Sheet3
	Drawing View13

	Sheet4
	Drawing View14
	Drawing View15
	Drawing View16

	Sheet5
	Drawing View17

	Sheet6
	Drawing View21
	Drawing View22

	Sheet7
	Drawing View20


